
SAP ABAP table WINT_BETR {INTTAB plants (diverse uses)}

WINT_BETR

MANDT [CLNT (3)]

WKFIL [CHAR (10)]

WKFIL_K [CHAR (10)]

ZUFIL [CHAR (10)]

ZUFIL_K [CHAR (10)]

LOKAL [CHAR (10)]

LOKAL_K [CHAR (10)]

WERKB [CHAR (10)]

WERKB_K [CHAR (10)]

WERKSEL [CHAR (10)]

WERKSEL_K [CHAR (10)]

WERKQ [CHAR (10)]

WERK1_K [CHAR (10)]

WERKZ [CHAR (10)]

WERKZ_K [CHAR (10)]

WERKS [CHAR (10)]

WERKS_K [CHAR (10)]

WERKSS [CHAR (10)]

WERKSS_K [CHAR (10)]

VZ_ZL [CHAR (4)]

VZ_ZL_K [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 WINT_BETR-LOKAL_K = KNA1-KUNNR 

0..N

0..N

 WINT_BETR-WERK1_K = KNA1-KUNNR 

0..N

0..N

 WINT_BETR-WERKB_K = KNA1-KUNNR 

0..N

0..N

 WINT_BETR-WERKSEL_K = KNA1-KUNNR 

0..N

0..N

 WINT_BETR-WERKSS_K = KNA1-KUNNR 
0..N

0..N

 WINT_BETR-WERKS_K = KNA1-KUNNR 0..N

0..N

 WINT_BETR-WERKZ_K = KNA1-KUNNR 

0..N

0..N

 WINT_BETR-WKFIL_K = KNA1-KUNNR 

0..N

0..N
 WINT_BETR-ZUFIL_K = KNA1-KUNNR 

0..N

0..N

T000

MANDT [CLNT (3)] WINT_BETR-MANDT = T000-MANDT 
0..N

0..N T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 WINT_BETR-VZ_ZL = T001W-WERKS 

0..N
0..N

WRS1

MANDT [CLNT (3)]

ASORT [CHAR (10)]

 WINT_BETR-LOKAL = WRS1-ASORT 

0..N

1

 WINT_BETR-VZ_ZL_K = WRS1-ASORT 

0..N

1

 WINT_BETR-WERKB = WRS1-ASORT 

0..N

1

 WINT_BETR-WERKQ = WRS1-ASORT 

0..N

1

 WINT_BETR-WERKS = WRS1-ASORT 

0..N

1

 WINT_BETR-WERKSEL = WRS1-ASORT 
0..N

1

 WINT_BETR-WERKSS = WRS1-ASORT 0..N

1

 WINT_BETR-WERKZ = WRS1-ASORT 

0..N

1

 WINT_BETR-WKFIL = WRS1-ASORT 

0..N

1

 WINT_BETR-ZUFIL = WRS1-ASORT 

0..N

1


